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1. wer e tidie Readr SR HITE Sedr 9 909 AR 2
(1) "I —~ YU — HHIE — HIER
(2) FAY — VPTG — TN — B
(3) RIS — S — HFARRT — HHIG
4) Y — o — Ferg — HiewE
In middle Himalaya, as per the height of peaks, which ascending order is eorrect ?
(1) Dhavalgiri — Annapurna — Makalu — Kanchanjunga '
(2) Annapurna - Makalu - Dhavalgiri — Kanchanjunga
(3) Kanchanjunga — Annapurna — Dhavalgiri — Makalu

O (4) Annapurna - Dhavalgiri — Makalu — Kanchanjunga

2. Ereftole S vdq T /we Megh =

S ?
@ . 2) b)wH
) BEd 4) (a)%aa

Which of the following mountain ranges/hills separate Godavari river basin and
Bheema river basin from each gther ?

(a) Mahadev Hills (b) Satmala Hills

(c) Balaghat Hills (d) Ajanta Hills

Answer options :

(1) Only (a) and (d) (2) Only®)

(3) Only(e) (4) Only(a)
3. ‘giamr & wRig SaranE SO Sive SeEl AR ?

1 w3 @) ¥y 3) freig @ TR

‘Fujiyama’ is the famous volcano occurred in which island in Japan ?

(1) Kyushu (2) Honshu (3) Shikoku (4) Hokkaido
o] SIS S / SPACE FOR ROUGH WORK P.T.O.
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4 TR I RN QEABGA@BRT 1
(2) & WV Hedi a1 JHU aEee 3T r
(by A% ffe 100 T 200 &ft vE v ;
(c) mamm_mwmmwﬁwaﬁ
(@ & 90T S At I i SR e dat ,

watef 3 : I
() (@ 3ot (b) (2) (a),(c) anfor (@) ’ ]
@ (c) 0 (d) (4) hawd ’

This region is known as drought region because @
(@) Itis situated on the Eastern side of Sahyandri Mountains

The annual rainfall is 100 — 200 cm
(3) (c) ana~est of Marathwada and Khandesh is included in this region
‘-~ shadow region of South-West monsoon winds

5.  uften U sgf smwl @ (NCS1,
(1) =, 2014 (2) D, 2o,
(8) <mMalt, 1960 4) SHa, 1974'

The first National Commission for Schedule Tribes (NCST) was constituted in

(1) March, 2014 (2) March, 2004 -
(3) January, 1960 (4) January, 1974

6. TR YRASe a8 Iaeqd JIguR) Fata Widt Ad v ?

(1) arfi 2

(8) 3IBM (4) et

Which is the largest west-flowing Rift System river of Maharashtra ?
(1) Tapi (2) Narmada

(8) Ulhas (4) Shastri

e HHIIE! ST / SPACE FOR ROUGH WORK
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7. Gl s Aun/Re s /e ?
(a) <ieagear a1 yeua: egfifm fAitfdart Swr sm.
(b) T 3N Y & ARG FFarse=t qaifies ™[ FOM W 4.
(c) ST strarie=al ITEAM YR JUH a1 wrTal.

' (d) IR, TR, TR, 30 B TRRISIAS Slaae Seared HOm el anmga.
. wrafefl I :

1) (a)w (2) () Jh (¢) T

(3) (a), (c) 3 (d) 4) =l gd

Which of the following statements is/are correct ?

(a) Bauxite is used mainly for the production of aluminium.

(b) Spain and Japan are the largest importers of Indian bauxite.

(¢) Odisha stands first in the production of bauxite in India.

(d) Kolhapur, Ratnagiri, Satara, Thane are the bauxite producing districts of

Maharashtra.
Answer options :
(1) Only (a) (2) Only () and (c)
(3) (a),(c)and (d) (4) All of the above
8.  ura anfr wiiteeaw wefter R wer R Tht et wvara et
O (1) 18 g<=, 1960

‘ (2) 219, 1950
(3) 26wHaEHl, 1950
e (4) 23 R&w, 1969

Indus Water Treaty between India and Pakistan was signed on
(1)  19*" September, 1960
(2) 21% July, 1950
(3) 26 January, 1950
4) 23 December, 1969
Poed] HITAISI STRIT / SPACE FOR ROUGH WORK P.T.O.
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9. 4 Afhddie ueha § eIk AR

(a)
(b)
(c)
(d)

=rar A TEEE
el
gufer snftr fferm
®

QAR I

(D
(3

(a) 30T (b) 2) (b) &=
(c) 3T (d) ) (d) %

These lakes are occurred in the rift valley in East Africa.

(a)
(b)
(c)
(d)

Nyasa and Rudolf
Victoria
Superior and Michigan

Erie

Answer options :

(1)
(3)

(a) and (b) (2) Only (b)
(c) and (d) (4) Only(d)

10. 2011wwﬁﬁm,mmmmmmmmmm?

(L
(2)
(3
(4

As per 2011 Census, which ascending order of states as per percentage population in

G — W — BAETE — FRamwn
G — BTG — SATEH — g
e — it — Jee — JAEH
AN - SR — ISE — AW

India is correct-?

(L
(2)
(3)
4)

Punjab — Assam — Chhattisgarh — Haryana
Punjab - Chhattisgarh — Assam — Haryana
Chhattisgarh — Haryana — Punjab — Assam
Haryana — Chhattisgarh — Punjab — Assam

ToEl IS SR / SPACE FOR ROUGH WORK
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11. HERMIIE Sa9sed o I ol Sreae Eeie g 9=a1 I°g ST o ¢

AATEHET e HIEuT™ i
(a) B () TECHIAEIR
(b) WSREU () TEERR
(c) oo aEf (iii) @R
(d) AT (iv) ST Ea
i I
(a) (b) (© (d)
(1) (i) @) (iv) @Gi)
(2) @@ (iv) (i) (iii)
(3) Gv) (iii) (i) ()
(4) (i) (iv) ) (i) -
Match the correct pairs of water project and the name of its water storage in
Mabharashtra :
Water Project Name of Water Storage
(a) Koyana (i) Nala Damayanti Sagar
'(b) Bhandardara (ii) Nathsagar
(¢) Upper wardha (iii) Shivsagar
(d) Jayakwadi (iv) Arthar Sarovar
Answer options:
(a) (b) (© (@
(L (i) @) (iv) (i)
2) ) (iv) (ii) (i)
@) @) (iii) (i) @
(4) (i) Gv) D (ii)
TTT HHRIG! SR / SPACE FOR ROUGH WORK P.T.O.
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12.

8

@S] TR SEdia @ielierisnt S fum ae amga ?

(@) & 97 WEt- R YT Uhe qUEH A,

(b) 1 S e el oW Tevam.

(¢) I wrere ardforga T fiesd.

(@) I TR G HO T IR,

pe ikl

(1) (a), (b) 3T (¢) FaF

2) (), (c) 3T (d) B

(8) (a), (b)3lvr (d) Bt

@ (a), ), (c) 30 (@)

In relation to Mangrove forest, which of the following statements are true ?
(a) 'This forest are found in between high tide and low tide levels.
(b) The trees in this forest are called ‘Sundari’.

(c) ‘Tanning is obtained from the bark of these trees.

(d) There is a need of conservation of this forest.

Answer options :

(1) Only(a), (b) and (c)

(2) Only(b), (c) and (d)

(3) Only(a), (b)and (d)

4 (a), (®), (c) and(d)

13.

Tl B Ay, Wi HeRhTe STt Fe 3R ?

(1) Ferees angygH

(2) TR ST

(8) e "Gy

(4) g Tyt

By which straits of the following is India separates from Sri Lanka ?
(1) Strait of Gibralter

(2) Strait of Malacca

(83) Strait of Palk
(4) Strait of Sunda

THTEY] SIS ST / SPACE FOR ROUGH WORK
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14, sy qoft foag st wwae 3 T v swtoam st
(1) 1967 (2) 1956 (3 1965 (4) 1970
Water Dispute Act was enacted in India in the year .
(1) 1967 (2) 1956 (3) 1965 4 1970

15. Fnfor =T GHFIHUH doie TEIEIE AR TENEY 38
B UGG
1) 4, a9

| (2) T, oo
O (3) &, T el

(4) whedh T
Drainage pattern refers to a design which and its form
together.
(1) river, lake
(2) glacier, lake
(3) river, tributaries
(4) None of the above

18. T A& TINTSAT SIRAET 30 S8TST SR WRE o TEY AL
(@) wifsram b)) s
(¢) @A d) wrERw
Tt S fram/fAun =t /e 7
1) (2) % (2) (a) 3T (b)
(3) (cy3nitr (d) . @ (Dww

Thirty years agreement for sharing Ganga river water was made between India and

(a) Pakistan (b) Nepal

(c) Bhutan (d) Bangladesh
Which of the statements given above is/are correct ?

(1) Only(a) (2) (a)and (b)
(3) (c)and(d) (4) Only(d)

T FHIE ST / SPACE FOR ROUGH WORK P.T.O.
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17. wRadie Se-Nee I 9 TU9E1 oY Il A St S

TGHAT a9
1874

1907
1919
1923

wg-aEg Ig
() T A 3 Wi B9t 6))
(b) 2RI AFA 3vg el (ii)
(¢) TEA ARA 3 wie HE! (iii)
@ TREy AR e We S (iv)
aiEft I :

(a) (b) (c) (d)
1 Gv) (iii) (i) (i)
(2) (iid) (i1) Y (iv)
(@ Gi) (iv) (1) @)

@ (3i) () Gv) O
Match the correct pairs of Iron and Steel Industry and its establishment year in
India: i
Iron and Steel Industry Establishment Year
(a) Bengal Iron and Steel Industry (i) 1874
(b) Tata Iron and Steel Industry (i) 1907
(¢ Indian Iron and Steel Industry @) 1919
(d) Mysore Iron and Steel Industry (iv) 1923
Answer options:
(a) b) (c) @
(1) Gv) (iii) (ii) )
(2 Gi) ) @ (iv)
(3) (@b (iv) (iii) )
@ @ (i) (ii) (iv)
@

18,  vRare deier geusard SHNTER ST Hedl FH A MR ?

(1) ST — GETHR — T —
(2) YAER — JuOI — THIH — AT
(8) ST — quort — GATAR — M
(4) YIMR — TEh — 00 — ST

Which ascending order is correct as per the height of waterfalls on rivers in India ?

(1) Venna —Dhuvadhar — Gokak — Jog
(2) Dhuvadhar -Venna — Gokak - Jog
(8) Jog-—Venna — Dhuvadhar — Gokak
(4) Dhuvadhar — Gokak —Venna — Jog

T BTSSR / SPACE FOR ROUGH WORK
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1 F17
QY] wvEr T2 ‘i ot waeunh gadia omg ?
(1) vEEes, TS, 30

(2) IR, TR, eI
(3) ORI, I, IM

(4) <Y, FHHUN, JEES

Which of the following groups is associated with “Thermal Power’ plant ?
(1) Bhusawal, Nashik, Uran

(2) Trombe, Dahanu, Jalgaon

(3) Tarapur, Uran, Thane

(4) Chandrapur, Kakrapara, Bhusawal

TrEdier frmpick aelieihl ur 9gdn wed I

(1) &R gouT=aT gera Remm oy

(2) TR o= gend qeai T

(3) 100 THIr=AT gea o= g

(4) 100 EfiEr=a gera gear v

Sex Ratio in India is depicted from the following one method :
(1) Ratio of female population per thousand male population
(2) Ratio of male population per thousand female population
(3} Ratio of female population per 100 male population

(4) Ratio of male population per 100 female population

21.

Trefierdeht shivret iy fnma a1 Tl T g stewan ?

(1) 10° 7T 20° N Twm (2) 20° 7T 30° N Twam

(3) 20° 3fr 30° S TwEAM @ 0°mﬁr23%°saw=r

In which of the following latitude zones are maximum ocean salinity values found ?
(1) Between 10° and 20° N (2) Between 20° and 30° N

(3) Between 20° and 30° S (4) Between 0° and 23% °S

T SIS SR / SPACE FOR ROUGH WORK P.T.O.
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22,  AIE STV AYHIC FiHd he Sl
(a) TG A FHIg S (Heh)
(b) U HETE AT SR FeI®
(¢) TaUM T
(d) &R
Ferdeht Hor RuR FUe s ?
(D (=)= b (2) (c) v (d)
(3 (a), )=l (@) 4) 0w wd

The Paper Industry is divided into the following categories :

(a) Paper and paper board

(b) Straw board and other board

{(¢) News print

(d) Security paper

Which of the statements given above are correct ?

(1) (a)and (b) (2) (c)and(d)

(3) (a), (b)and (d) (4) All of the above

23, iy Nl 227 R wiig 999e BT GF e ITHTS HIGesard ?
(1) O -dan
2y o - fiwon
(3) T — gt
(4) veE - fE

‘Mandhar and Dardi’, these famous waterfalls occur in confluence
rivers ?

(1) Choti — Tawa

(2) Purna-—Gimna

(3) Bheema ~ Indrayani

(4) Mandavi — Tirakol

& SIS IR / SPACE FOR ROUGH WORK
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24. wEREEE gea 7€ 9 foeft Iedt e a9 ste o
g T
(a) wi\r () gar
(®b) Fom Gi) =
(¢) weEd (iii) wa
(d) rdt (iv) i
it I :
() (b) (e) @
(1) (i) @) (iv) (ii)
(2) (iv) (ii) (i) (1)
(3) (iii) (iv) @) (i)
(4) (@) (ii1) (iv) @)
Match the correct pairs of main river and her tributaries in Maharashtra :
River Tributeries
(a) Bheema (i) Dudhana
(b) Krishna (ii) Bori
(¢) Godavari (iii) Karha
(d) Tapi (iv) Bheema
Answer options :
(a) (b) () (d)
(1) (id) (i) (iv) (ii)
2) v (ii) (iii) ()
3y (i) (v) (1) (i)
4 G (iii) (iv) (1)
25. wrefter faurrn fomm w0 sl e e wiamEr arw w6 s s B

RYF (D : IR ST SR Serea i Wi STert SHIST O S ST,
U (ID ;:  JACHIEAT AT TRET it ot arer e sy for s,
it I

(1) fum () «0= o @) faum (1D s = m

(3) T fyum sl sma @) I a3 ma

Consider the following statements and select the correct answer using the options

given below :

Statement (I) : Western Ghats has been included in the UNESCO World Heritage
List.

Statement (II) : The highest number of UNESCO World Heritage Sites are located in
France.

Answer options :

(1) Statement (I) is correct (2) Statement (IT) is correct

(3) Both Statements are correct (4) Both Statements are incorrect

Feel] SIS SR / SPACE FOR ROUGH WORK P.T.O.
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26. e € : (WG SR SRaufeTd Rem) 1

‘A ‘B’ %,
(a) AU, Wrerdiarer ()  afeawrn s \‘i
(b) v I T Al @) wfurs NeEw .
(¢) H.A. T (i) AR ST R g |
(d) . REEggR (iv) e SIS YS! Feet .
it W

(a) ) ()~ - CY _ O

(1 () (iii) @ @v)
2 ® @iv) (ii) (i)
3 @ (i) (i) (iv) "\
4 @ (iv) (iii)
Match the pairs : (Statement about Preamble of Constitution of India)

‘A ‘B
(a) N.A, Palkhivala (i) Soul of the Constitution
() Pandit Thakur Das Bhargava (i) Identity Card of the Constitution
(¢) KM. Munshi (iii) Resemble to Declaration of Independence 'D

of USA N
(d) M. Hidaytullah (iv) Horoscope of our Sovereign Democratic )
Republic

Answer options : — é

(a) (b) (c) )
(1) GH (iii) @) (iv)
(2 @) (iv) (i) (iii)
3 @ (i) (iii) (iv)
(4) (D) (i) (iv) (iii)
FEeq] PHINIS! SR / SPACE FOR ROUGH WORK
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27, Rare SRgEme i wfidurmgn s ARnesad uae sl s 2
(a) Gwadi g
(b) WaTH HEICEN FPIR ARYFR &
(c) TR, AMRY o R Gea™ WaA
(d) wEgH foRiiR
it I
Q) (a) 3 (c) T (2) (b)3nfr (d) w
(3) (a), (b) 3P (c) ek 4)  (a), () v (d) w
6 Which were the features borrowed from Australian Constitution to Constitution of
India ?
(a} Concurrent list
(b) Advisory jurisdiction of the Supreme Court
(¢) Freedom of trade, commerce and interrelation
(d) Parliamentary privileges
Answer options:
(1) Only(a)and (c) (2) Only () and (d)
(3) Only (a), (b) and (c) (4) Only (a), (b) and (d)
28. wIe WUSY dEN AR 3 I GTHIT I TR,
(a) SIRERS Rrbde
(b) T Rrehgiewr
e R T —
i gt IW
(1) (a) 3o (b) B (2)  (b) FIHT (c) FF
(3) (a) 3T (c) o @) =l wd

The existence of local self-government depends upon
(@) Decentralisation of Authority

(b) Decentralisation of Power

(c) People’s participation in Decision-making

Answer options:
(1) Only (a) and (b} (2) Only(b)and (¢)
(3) Only (a) and (c) (4) All of the above

FHeRg] HHRIIS! JRT / SPACE FOR ROUGH WORK : P.T.C.
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29. 425 TEAIGRE (1976) W TIEE =41 GEIRIT SR WG TG H0I 3R ?

(1) TRy anfl e (2) AT A bl

(3) TEHW T FAET (4) < i R

Which words were incorporated in the preamble of the Indian Constitution through
42" Amendment (1976) ?

(1) Socialist and Secular (2) Socialist and Democratic

(3) Sovereign and Socialist (4) Democratic and Republic

30. YRAE Eeisidh Sor vsams Bl vard o ST 67 ?
(a) ANTRIS
(b) FEwE
(¢) Tormom
(d) Fga
(e) TSR
qaiEt I
(1) (a), (b) =M (d) T (2) (b), (c) 3fen (@) T
(8) (c), () e (e) o 4 (a), (b) 3T (c) T

Which of the following states in India there is ro three-tier Panchayati Raj system ?
(a) Nagaland
(b) Meghalaya

{(¢) Mizoram
(d) Tripura
(e) Gujarat

Answer options :
(1) Only (a), (b) and (D) (2) Only(b), (c) and (d)

(3) Only (o), (d) and (e) (4) Only (a), (b) and (¢)

Heeq] BATHEIS! STRT / SPACE FOR ROUGH WORK
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31. wreftedt wiorar vl et aften Seai=n siate weka sea ¢
(a) EIT (b) Ff wfedt
(c) & |k (d) w7 e e gt
g T ;
(1)  (b)31f (c) B (2) (), b) 3l () wa
8) (a), (c) 301 (d) v (4) =le ud
Which of the following departmental standing committees are working under Lok
Sabha ?
(a) Committee on Industry (b) Committee on Agriculture
(¢) Committee on Defence: (d) Committee on Human Resource Development
Answer options:
(1) Only (b) and (c) (2) Only(a), (b) and (c)
(3) Only(a), {c) and (d) (4) All of the above
32. Siewn 9@ : (TEE AREE)
W Tsagensiier Jg=ag LG
(a) 3F=aq 124 () = AR IR SR &
(b) 3BT 126 (i) wars rERE R At AR
(c) oigeaT 129 (i) AT g e P
(d) sHE<RT 131 (iv) war= TR T
waidt IW :

(a) b) (c) d
1) @Gv) (iii) (ii) 6]
(2) Gv) (ii) (iii) (i)
3) (@v) (iid) @) (i)
(4) (iD) (iii) (iv) Q)
Match the pairs : (Supreme Court)

Article in the Provision

Indian Constitution
(a) Article 124 (i) Original Juridiction of Supreme Court
(b) Article 126 (i) Supreme Court to be Court of Record
{c) Article 129 (iii) Appointment of Acting Chief Justice
(d) Article 131 (iv) Establishment of Supreme Court
Answer options :

(a) (b) (e) (d)
(1) @Gv) (iii) (ii) @
2y (v (i) (iii) @i
3) (v) (iii) ) (ii)
4) (@) (iii) (iv) @

TR PRSI SR / SPACE FOR ROUGH WORK P.T.O.
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33.

18 A

grefe foam fomma = -

(@) WENIEM U fywmlt weh Tex eq.

() T Heom=l wg Faifua snfr st TmfEln weer swa.
(c) “wew HearE Jww Feit swmt.

Fterteht SR/l framA SO sR/Aa ?

(1) (a)3in (b) B (2) (b) 3l () we
(3) () (4) (a) 3T (c) HF
Consider the following statements :

(a) There are seven Cantonment Boards in Maharashtra.

() A Cantonment Board consists of partly elected and partly nominated members.
(c) The President of a Cantonment Board is an elected person.
Which of the statements given above is/are correct ?

(1) Only (a) and (b) (2) Only (b) and (c)
(3) Only (o (4) Only(a)and (c)

34.

(a) TramERY oo AR, W Rum iy i swee s ' 9.

(b) T aReen weifew srede W e o9 7 Fae fades © 2.

© R tum e (EeeE Te) R 9 wureEt wie S fadas
(@mm)ﬁmﬁmwﬁm@mwﬁaaﬁa,%%ﬁwam
g,

‘Q‘t‘ﬁ'ﬁﬂ:
(1) () 3l (b) T @) (a) AN (c) B
(3) (b) 3 (c) B @) =hwud

Select the correct statements about the position with respect to lapsing of bills on
the dissolution of the Legislative Assembly.

(2) A Bill passed by the Legislative Assembly but pending in the Legislative
Council lapses.

() A Bill pending in the Legislative Council but not passed by the Legislative
Assembly, lapses.

(¢) A Bill passed by the Legislative Assembly (in a unicameral state) or passed by
both the houses (in a bicameral state) but pending assent of the Governor or

President does not lapse.
Answer options :
(1) Only(a)and (b) (2) Only (a) and (c)
(3) Only(b)and (c) (4) All of the above

FHEEAT HETSE AT / SPACE FOR ROUGH WORK
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85,  Siiewl O : (FREH fHar s WihEs HHHR GAET SHER 3TWm W)
‘A0 ‘B’
(@) et ot (vioee 9 Frawm) s (i) 1951
(b) @it sfuFEm G) 1952
(¢) T3 frme v s i) 1966
(d) HRR IEYH HR HEE Gv) 1986
gt e
(a) (b) (c) d)
QO Gv) (ii) (iii) i)
(2) (@) @ (iif) (iv)
(3) (ii) (iv) (i) (i1)
4) (v) {) (ii) (iit)
Match the pairs : (Prohibition of Employment of Children in Factories or Other
Hazardous Activities)
[ A’ ‘B’
(@) The Child Labour (Prohibition and Regulation) Act () 1951
(b) The Mines Act (ii) 1952
(¢} The Bidi and Cigar Workers Act (iii) 1966
(d) The Motor Transport Workers Act (iv) 1986
Answer options :
(a) (b) (e) d
1 G (ii) (iii) )
(2) (i) () (iii) (iv)
3) (iib) iv) (i) (ii)
@ Gv) @ (ii) (iii)
36. WRilGY! PV WHATAT SWTIAT ARy fae woaa st 2
(@) 8. . TuEsH b . fcEgge
() s . mi (d) =i wf gé’-l
it I :
(1) (a), (b) 30 {c) B (2) (b), (c) 31 (Q) B
(3) (a), (b) =it (d) @ (a), (c) 3o (d) wa
Which of the following Vice-Presidents of India were elected unopposed ?
(a) Dr. S. Radhakrishnan (b) M. Hidaytullah
(¢} Dr.S.D. Sharma (d) Dr. Zakir Hussain
Answer options:
(1) Only (a), (b) and (¢) (2) Only (b), (c) and (d)
(3) Only (a), (b) and (d) (4) Only (a), (c) and (d)
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(a) o= SRR o o RRRTE gE dvarsa 40 Rea amft snftr sitEwm
IR 40 Regmda @ 31 S AU A

b) e i (o) Rarh 7 S swems suesy sma.

() T gueHed Sevar/Afead Wed R,

(d) g Gury) VIHYT G UAW AR Az,

it I :

D (@), () 3P (c) B (2)  (b), (c) TR (d) B

(3) (@), (c) 3T (d) Tt (4) TOwEd

Select the correct statements about privileges of Member of Parliament.

(a) They cannot be arrested during the session of Parliament and 40 days before
the beginning and 40 days after the end of session.

(b) Above privilege (a) is available in civil and criminal cases.

(¢) They have freedom of speech in Parliament.

(d) They are exempted from jury services.

Answer options: .

(1) Only (a), (b) and (c) (2) Only (b}, (c) and (d)
(38) Only (), (c) and (d) (4) All of the above

38.

WRaRhe wifRE AR Tl S fum g6 o ?

() wifREer o s@ T Tsar gt YR uge o, fen o swr s
e fafye emiten devia qeey T .

@) TF mifs GIEEE AuE GUeE SR FABIS AUl IEd AT gHieAl Sigan
anavaE R & s O W SR,

(3 mmmmmmmmﬂmmmw%
ST AR e 9.

(4) oletd T T

Which one of the following statements about Indian Secularism is incorrect ?

(1) Secularism does not mean that the state should be hostile to religion but that it
should be neutral as between the different religions.

(2) Each religious denomination or organisation enjoys complete autonomy in the
matter of deciding as to what rites and ceremonies are essential according to
the tenets of its religion.

(3) The court has no right to determine whether a particular rite or observance is
regarded as essential by the tenets of a particular religion.

(4) None of the above
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¥ 2006 7 WA I FEEH Fgesrht A wwaa sl 2 2
(@) JaFES THNY Wew

M) IEHEE THE TES

(¢) el TN HEY Ues

(d) ST TRE 9 SR U D

it Tﬁ'ﬂ :

(1) (a) M (b) wara (2) (c) 30T (d)

(3)  (b), (c) 3 (d) o @) (a), (c) 3 (d) Bt
Which of the following Parliamentary Forums were constituted in the year 2006 ?
(a) Parliamentary Forum on Youth

(b) Parliamentary Forum on Children

{¢) Parliamentary Forum on Disaster Management

(d) Parliamentary Forum on Water Conservation and Management
Answer options :

(1) Only (a) and (b) (2) Only(c) and (&)

(3) Only (b), (¢) and (d) (4) Only (a), (¢) and (d)

T et sremeshla gEmoT IR (2005 — 2009) TER, U TN GRATEAT GEHIEETES)
HIURR T WriTier 9l ST 2

(a) wEUgY

(b) TERE

(c) =

(d) wAlTH

(e) iRy

i} 3wt :

(1) (a), (b) 3T (c) (2) (a), (b)=mftr (@)

(3) (a), (b) 3 (e) @ (¢}, (d) =111 (e)

According to Second Administrative Reforms Commission of India (2005 — 2009),

which states are considered to be progressive in Panchayat Raj Institutions
empowerment ?

(a) Maharashtra

(b) Gujarat

(¢) Kerala

(d) Karnataka

(e) Tamil Nadu

Answer options :

(1) (a), (b) and (c) (2) (a),(b)and (d)
3) (a),(b)and e 4) (c), (d) and (e)

—
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41. wEreliend HEr 73501 HeAGER FE (1992) = Er gl e ?
(2) TS feha TETSAT T UMW T AR .
(b) T WA TMaUTSR ARER T T KM L.
() et i el st - T e
it I
(1) (a) 3 (b) B (2)  (b) 3o (¢) %
(3) (a) 3l (c) W @ whaad
Which of the following are compulsory provisions of 73™ Constitutional Amendment
Act (1992)?
(a) Organisation of Gram Sabha in a village or a group of villages.
() Endowing the Gram Sabha with powers and functions at the village level.
(¢) Reservation of % seats for women in panchayats at all the three levels.
Answer options:
(1) Only(a)and (b) (2) Only (b) and (c)
(3) Only(a)and (¢) (4) All of the above
42. WEfEH AEE T INeET

(1) wres fdees ¥ TR FEeE et Skl W

@) ardwE fias 3 G et i 10 Rewt ga e AR,
(3) @t it ¥ wamE W iR e Heg TEEgR Het A 9.

@) @ R SRR IR FOEE! T AR g a3
Select the incorrect statement from the following :

(1) Public bill is introduced in the Parliament by a minister.

(2) Public bill to be introduced in the house requires 10 days notice.

(3) Private bill can be introduced in the house by any Member of Parliament other
than ministers.

(4) Private bill to be introduced in the house requires one month’s notice.

HT=] HINISE SR / SPACE FOR ROUGH WORK
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Grefletl g HuT Ao

(1) PR AT TPdieg didl gl v simmr Té.

(2) -Ugudt } AT ARSI AR SO 2varg wifle .

(3) Wb R TRIit B4 HEEeT SreaER STee TS,

(4) Trgadi=a g JAfFT=ar TOEE gate =rEeEe fafie aricis o= vevast e
T8

Select the incorrect statement from the following :

(1) The petitioner for mercy has no right to an oral hearing by the President.

(2) The President is bound to give reasons for his order of pardoning.

(3) The pardoning power is to be exercised by the President on the advice of the
Union Cabinet.

(4) There is no need for the Supreme Court to lay down specific guidelines for the
exercise of pardoning power of the President.

421 HEEERA FRE, 1976 TR Eiefieashl Fv Apfedis v wrde glamme sevam
AR 172

(1) Heren Freft Reemren et gt o

(2) watERom= YT Inftt GAROT 0 Sl Srer 9 FREiE ST .

(3) THH RN YR U0 A T A HIR Fed Yoy w6 20,

(4) TSI Wiee VAMEY AAUIREhAT SRS ASSTRT J18 .

Which of the following Directive Principles is not added by 42" Constitutional
Amendment Act, 1976 to the Constitution of India ?

(1) To secure opportunities of healthy development of children.

(2) To protect and improve the environment and to safeguard forests and wildlife.
(3) To promote equal justice and to provide free legal aid to the poor.

(4) To separate the judiciary from the executive in the public services of the state.

=

WW@E@T:

(a) I W& &1 S Frmmed g .

(b) YA Y& & TARHR colld g& gl

(c) TEEE wriaTd §AWEd Y Yet 81 WRAW AEeiet T4t WY R,

yaiet I

(D) (a) 07 (b) T (2)  (b) 31V (c) wa
(3) (a)3nfvr () o 4) w0aud

Select the correct statements :

(@) The zero hour is not mentioned in the Rule of Procedure.
(b) The zero hour starts immediately after the question hour.
(c) The zero hour is an Indian innovation in the field of parliamentary procedures.

Answer options:
(1) Only (a) and (b) (2) Only (b) and {(¢)
(3) Only(a)and (c) (4) All of the above
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Trfteld R frens g afidA (1988) et 7777 ?

(1) v=mEd T gei fifvud et o= aui=n sEmE.

(2 Freeiewd w fes viuden ger wriwkt sl s
(8) YR US Gvi=T Sifafes geren Serad? i afgmn swmE.
(4) UG TS GEAFT S WAl e &4l

Which of the following is no# a recommendation of Thungon Committee (1988) ?
(1) The Panchayat Raj bodies should have a fixed tenure of five years.
(2) The District Collector should be the chief executive officer of Zilla Parishad.

(3) The maximum period of super session of a Panchayat Raj body should be three
months.

(4) The Panchayat Raj bodies should be constitutionally recognized.

417.

AW HIF D@l :

(2) TRYUAR Saee) SWHEER & 9 Sy o1 e aifva Se AR

(b) TEREAT JAA NI 15 T Gad GIAHat TSl WISl TR W R 9
Feft TR e

(@ wmterde s Rffem (1963) Bt Siea sl s = 3avardt war S

it I ;

(1) (a) & (2) (b)%d

(3) (c)w (4) =lAthr T

Select the incorrect statement :

(@) The Constitution has declared Hindi and English to be the languages for
transacting business in the Parliament.

(b) English was to be discontinued as a floor language after the expiration of
15 years from the commencement of the Constitution.

(¢) The Official Language Act (1963) allowed English to be continued aleng with
Hindi.

Answer options :
(1) Only (a) (2) Only (b)
(3) Omly(c) (4) None of the above
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48. YT AUHR IwEid I TRV FUN HReAl Faet a TR A SRS HOAET
AR THeET e, a1 A T TR AR

(a) @i T adid qarm
(b) STEIERIY IHTA

(c) WHET qeeRlt § Tad ¥ AR wfosg
(d) IITTEEATHIAT s &

(1) (a) 3l (d) woa

2) (c) 3oy (d) B

(3) (a), (b) A (c) FFA

(4) (b) 3P (c) B

Parliament shall have powers to make laws for prescribing punishment for those
acts that are described to be offences under the fundamental rights. These includes

(a) Equality of opportunity in public employment

(b) Abolition of untouchability

(c) Prohibition of traffic in human beings and forced labour
(d) Protection of interests of minorities

Answer options :

(1) Only (a) and (d)

(2) Only (¢) and (d)

(3) Only (a), (b) and (¢)

(4) Only (b) and (c)
azz) mﬁﬂ' IR / SPACE FOR ROUGH WORK P.T.O.
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wrefledht Hort Riera seaa T Agar it (1957) 3 &eft 7787 ?

O Bt vam T Seed .

2y Frerr uiteg e Faga steien wiafdiag waes S,

(3) Rreaftrd 3 fregr WReex e ImwET.

(4) TIEE i & e Eer ST,

Which of the following is not a recommendation of Balwant Rai Mehta Committee
(1957 ?

(1) Establishment of three-tier Panchayat Raj system.

(2) Zilla Parishad should be constituted with directly elected representatives.
(3) The District Collector should be the Chairman of the Zilla Parishad.

(4) The Panchayat Samiti should be the executive body.

50.

a0 FIV NG :

(a) T SRR SEETEEE A wETgd el SR S At
it o,

b TP iEnien Few guhg SRR e rauiEd! v e
o iR Tegdt w/Hefaa +% weRdE.

il I ;
(1) (a)%ad 2) ()
(3) (a) i (b) A= (4) ahetd T

Select the correct statement/s :

(a) The right to move the Supreme Court by appropriate proceedings for the
enforcement of the fundamental rights is guaranteed.

(b) The President can suspend the right to move any court for the enforcement of
the fundamental rights during a National Emergency.

Answer options :
(1) Onmnly(a) (2) Only(b)
(3) Both(a)and (b) (4) None of the above
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51. (D) : “oalewie gndeEdl Svdier TRoT YHIMAER! UH-JAEI AT ST 36

iz ”
B dD: “YIRa WHRA T 9 TR0l ARER 1952 Hreft alie gaar e m.”
it I ;
(1) faud ()2 v IR, (2) faum qn 2 gog IR,

(3) IR OafrD e ama. (@) S fEm @ sl ) o g,
Statement (I : “The needs of ecological balance, the country should have a coverage
of one-third of the total area under forest.”

Statement (II) : “The National Forest Policy Resolution of the Government of India
in 1952 recomménded above recommendation.”

Answer options :
(1) Statement (I) is true. (2) Statement (II) is true.
(3) Both statements (I) and (II) are true. (4) Both statements (I) and (II) are false.

52. & " e P geg sfeses onda.
- (@) s (b) rfTar
(c) TSR 1 o () T =
uaieft I W ;
(1) (a) 3 (b) (2) (a), (b) = (c)
3) (), (b)3nfvr (d) @ law
are the main objectives of Indian economic planning.
(a) Economic growth (b) Self-reliance
(¢} Reducing employment (d) Elimination of poverty
Answer options :
(1) (a)and (b) (2) (a),(b)and (c)
(3) (a), (b) and (d) (4) All of the above
(1) 1950 (2) 1947
3) 1930 (4) 1944
In the year, ‘Bombay Plan’ was prepared for the development of Indian
Economy. =
(1) 1950 (2) 1947
(3) 1930 (4) 1944
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54. wrflw faam fewm = e
(a) MG WRRA 24 I 1991 Ush Tefi= shenfie awer st .
(b) - ST TEET Tl s e s 10 wa W e,
il whiowdt faR s /ey ?
D () U R 2)  (b) TR 3R
3 W () 0 ) TR I (4) e T
Consider the following statements :
(a) The Government of India announced a New Industrial Policy on July 24, 1991.
(b) The policy reduced the number of industries reserved for the government to 10.
Which of the statements given above is/are correct ?
(1) {a)is correct (2) (b)iscorrect
(3) Both (a) and (b) are correct (4) None of the above
55. 71 witen St wafta .
(@) TR 17 el b) forgr wfht
(c) iew wfd (@) TRR \f
wateft 3w
(1) (a)0fr (b) (2) (b} (c)
(3) (o) (@ () v

these committees are not related to poverty.
(a) Dandekar and Rath’s Committee (b) Minhas Committee
(¢) Narasimham Committee (d) Tarapore Committee
Answer options :
(1) (a)and (b (2) (b)and (c)
(3) (c)and(d) (4) All of the above

ZFTEg] HHEIS! SR / SPACE FOR ROUGH WORK
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56. 171 dliaWd 2022 W Wi FRdt eamed st Fgmfa sewrme) St v
S R ?
(1) 8 2) 9
3) 6 4) 10
How many States and Union Territories in India have only one seat each in the
178 Lok Sabha in 2022 ?
@) 8 .(2) 9
3) 6 ' 4 10
57. RgA(@D: “ieEeiea Tied AR SR S Tt 3 QR SR STEAE s

fi-1ftrs T SieEeE SeevE R s, ”

g (I1) :  “ et HoT=aT foreaT Tommer SFFRL HIed STl TIe SehEET aTdET ot
T T 3mar”

Tt g

1) foam (D3 s/ amR.

(2 fum QD 3 s/ .

@) foum (O3 A0 A= 2/ a1

(4) Taum @)= (ID g I T .

Statement (I) : “In the first stage, both birth and death rates are high, hence the
population remains more or less stable.”

Statement (II) : “In the third stage of demographic transition the birth rate decline
significantly and thus the rate of population growth remain low.”

Answer options :

(1) Statement (I) is incorrect.

(2) Statement (II) is incorrect.

(3) Both statements (I) and (II) are incorrect.

(4) Both statements (I) and (ID) are correct.

Feeg] FHAISE SARTT / SPACE FOR ROUGH WORK P.T.O.




F17 30 A ]
58.  “@yui awflor JsFIR AT (SGRY) el g& A I j{
(1) W 2001 (2) Hedst 2001
(3) fE= 2003 (4) HaR 2001 ,
“Sampoorna Gramin Rozgar Yojara” (SGRY) was launched in ) ]'
(1) September 2001 (2) November 2001 f
(3) December 2003 (4) January 2001 * ir
59. < Rk snwreh Sor e aTeft ST TR -
(1) 2006 2) 2007 (3) 2008 4) 2009 i
World’s first virtual currency the bitcoin was born in . 1
(1) 2006 2) 2007 3) 2008 @) 2009 O
60.  “vofiar wieft ymhw ferggefemor WA (RGGVY)” T g& HOAR AT
() & 2005 (2) SHER 2010 ]
(3) e 2005 (4) T 2004 j]r
“Rajeev Gandhi Grameen Vidyutikaran Yojana (RGGVY)” was launched in it
(1) May 2005 (2) January 2010 i
(3) April 2005 (4) April 2004 J
6L o e e e e S e s R ? %b
(@) wrafis R g S, |
() faemeatH vkl el
(¢) T TR 9ReY B, Q
(d) e &
et Fon fFram/fAam et R/« T ? :
(1) (a)30lT (b) (2) (b)=fr (c)
(3) (a)anfr (e @) w (@)

Which of the following is related to school mid-day meal programme ?
(a) Universalization of primary education

(b) Increasing student enrolment

(¢) Distribute free uniforms

(@) All of the above

Which of the statement(s) given above ig/are correct ?

(1) (a)and(b) (2) (b)and(c)

(3) (a)and(c) 4) Only(d)
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62. ‘@@ vra APEA" 71 feasft 9w wwamE .
(1) 2 eI, 2015 (2) 2 3, 2014
(8) 14 AER, 2014 (4) 26 SHar, 2014
“Swachh Bharat Abhivan” was started on the
) 24 October, 2015 2) 2° October, 2014
3) 14 November, 2014 @ 26% January, 2014

63. Gl faun e w=n
(@) 2011 = SRt & 158 Ty TET 2.
() I STHPRT S ARG SHORY SR war fef.

Tt 3w ;

(1) v 3umA (a) ST AR,

(2) % TuR () SN =m.

(8) (a) 3TN (b) IR faum s 2.
4) ()3 (b) - T 9% ammeA.

Consider the following statements : -
(@) The census of 2011 was 152 national census.

(b) In this census government approved the caste based censuys.
Answer options :

(1) Only statement (a) is correct.

(2) Only statement (b) is correct.

(3) Both statements (a) and (b) are correct.

(4) Both statements (a) and (b) are incorrect.

64.  “Teta itk Teftor Frar Ao 2 I e e
(1) SRR, 2006 (2) W, 2009
(3) Ul 2010 (4) =W, 2005
“Rajeev Gandhi Rural Shelter Scheme” was declared in
(1) October, 2006 (2) March, 2009
(3) April, 2010 (4) November, 2005
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65. Y& famran e s
A (D) : wfgen onfd S I s o Swmdt iR el A ge el
HATeAL.
A (D) : 2022 — 23 4 SEiwiar ‘T aeaadl’ T 2,472 FI [h T{g WE
T
et I :
(1w (1) T IR, (1) T AR
(2 faum (D) e R, A TF AR
(3) A fRam I Imed
(4) A Rur =R e
Consider the following statements :
Statement (I): The Mission Shakti Yojana was launched to provide integrated
benefits to women and children.
Statement (II) : A provision of T 2,472 crore has been made for ‘Migsion Vatsalya’ for
the year 2022 — 23.
Answer options:
(1) Statement (II) is correct, (I) is incorrect
(2) Statement (I) is correct, (II) is incorrect
(3) Both statements are incorrect
(4) Both statements are correct
66. mﬁwn@amﬂwaﬁm@NNURM)dwhmmaﬁmm@ﬁm

iU T THRET T TAH AR,

(1) 50:50 (2) 40:60
(3) 60:40 (4) ahatE T

Under the Jawaharlal Nehru National Urban Renewal Mission (JNNURM) — Urban
Rejuvenation Mission contribution ratio of Central and State Government is

(1) 50:50 (2) 40:60
(3) 60:40 (4) None of the above

T FHIEIO! SR / SPAGE FOR ROUGH WORK




67.

33 F17

wreftat Hivar wafa W fomErea geee 9uH S ?

(1) Jresrel 3feser=h S 7 a1 ARG b= g4t

(2) &a el

(3) e fierean wwn weTfawar st weite 7 war aduE e T g
(4) wAA g

Which of the following describes the concept of sustainable development ?

(1) A long-term growth without caring for short-term objectives

(2) Green growth

(3) Meeting needs of present generation without compromising ability of future
generation to meet their own needs

(4) Equitable growth

e R 4 e e R BT sw. war gde arie e d -
(a) < onify PRAf smyse

(by Tregor

(¢) TviwFmET a9 et

(d) g weei we

u‘qﬁ:ﬁaﬁ :
(1) %= (a) 107 (b) (2) W (b) 3 (o)
(3) & (a), (b) =0T (c) (4) =la e

Human Development is a process of enlarging people’s choices. It includes the
following things :

(a) Long and healthy life

(b) Education

(c) Decent standard of living

(d) Substantial Reduction in poverty

Answer options :
(1) Only (a) and (b) (2)  Only (b) and (c)
(3) Only(a), (b)and (c) (4) All of the above

oYl HHISI AN / SPACE FOR ROUGH WORK ° P.T.O.




F17 34 A
69. i S gl
w1 (7) wH I (Sevm)
(a) o (i) YEER aFR
b) FHE (if) G IR
(c) IS (ifi) FMEd AR
(d) oI (iv) IER HH TR
T I
N €Y} (b) (©) (d)
(1 (i) ) (iv) (ii)
(2) @b (iii) i) (iv)
(3 Gv) (ii) (iii) @)
(4 @ (iv) (ii) (iii)
Match the correct pairs.
Column I (River) Column II (Lake)
(a) Bhima (i) Shahaji Sagar
(b) Kukadi (ii) Tanaji Sagar
{c) Velwandi (iii) Yashwant Sagar
(d) Mutha (iv) Yesaji Kank Sagar
Answer options :
(a) (b) (c) (G))
(1) (i) ) Gv) (ii)
(2) (i) (iii) 1) (iv)
3) Gv) (i) (iii) ®
4) @ (iv) (i) (iii)
70. i e foawm o

(a) TR 2021 TE) WA Taities Fata gue, qud snft e w o v B
(b) o wE 9, qus S ey ¥ WRaEd sald W3 S W e,

Tt DR g S0 AR/ ?
() & (a) . (2) wFa(bh)
(3) A (a) M (b) (4) aheteh al

Consider the following statements :
(a) During April-November 2021, the highest exports from India were to USA,

UAE and China.

(b During the same period China, UAE and USA were the largest import sources
for India.

Which of the statements given above is/are correct ?

(1) Only(a) (2) Only (b)

(3) Both (a) and (b) (4) None of the above
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71. ¥ SRUREs oI O @,
(1) = F (2) R I
(3) gy (4) «ENE S
is not a non-conventional power source.
(1) Wind power (2) Solar power
(3) Hydro power (4) Bio-gas power
72. faesh fafme Fremm @ FERA) Usht siwera .
(1) 1, 1972 (2) 19mar, 1973
(3) 1SmMEd, 1974 4) 1Har, 1975
Foreign Exchange Regulation Act (FERA) came into force on
(1) 1% January, 1972 . @ 1% January, 1973
(3 1% January, 1974. @ 1% January, 1975
73. <A@ weheq iy fawm wreft Svame. st SmEe. zﬁﬁmﬁﬁrga?:n.
w1 wu IT
(a) ¥t (i) HATe
(b) gaT™ (i) TR
(©) (i) g0
(d) @ (iv) i
~ TgTE I
- (a) b) (© (@
(1) Gv) (1ii) (ii) i)
(2) @ (iv) (iii) (ii)
(3) Gv (1) (iv) (iii)
(4) i) (i) @ (v)
- Hydro power projects and zone given below. Match the correct pairs.
C Column I Column 11
) : (a) Surya (i) Amaravati
(b) Dudhganga (ii) Nashik
(¢) Karanjwan (iii) Pune
(d) Shahanoor (iv) Konkan
Answer options : ‘
(a) (b) (c) (d)
1) Gw) (i) (i) ()
2 @ Gv) (iii) (i)
3) @b () (iv) (iii)
(4) (i) (i1) ®» . @)
Feeq] SETTS! SN / SPACE FOR ROUGH WORK P.T.O.
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74. 71 feasht wraren g TR T T FE SR TEtd R .
(1) 2 3T, 1995 (2) 28 I, 2000
(3) 15W, 2005 (4) 22 f&==, 2000

Union Government of India has announced New National Agricultural Policy in the
Parliament on the .

(1) 2" QOctober, 1995 ) 28% July, 2000
(3) 15% May, 2005 @) 22" December, 2000

75. @Il SAAT ST W9 IMEEY U AT AR, AR SirS el

w1 wWR T
(a) el 1) 1822
(b) =i Bles (i) 1881
(¢ wi= wimR () Gii) 1862
(d) e Giv) 1789
gl IW

(a) ®) ©) (d)

(1) () ® (iii) (i)

(2) @ (i) (iv) (iii)
3) (@b (iv) 6} (iii)
(4 (Gid) (i) (iv) )

Newspapers and their establishment years are given below. Match the correct pairs.

Column 1 Column I
(a) Kesri i 1822
(b) Bombay Herald (ii) 1881
(¢) Bombay Samachar (Gujarathi) (iii) 1862
(d) Bengali (iv) 1789
Answer options :

(a) (b) ) )
1 Gv) @ (iii) (ii)

2 W (ii) (iv) (iii)

(3 G (iv) i) (iii)

(4) (i) (ii) @iv) @)
FTT BRIS! SN / SPACE FOR ROUGH WORK
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76. S, 1818 @ e s favma wior wivien Rewrn wwEw g 2
(@ 9 - TR - GHM (b) TR — TR
(c) TATR — WPl — IEAETR @ il - s
v yatg faer -
(1) (a) 3 (b) S AR (2)  (b) AN () TR 18
@) (a), (b) M (¢) T @) §d R I
After June, 1818, which district were included in ‘Deccan-Commissicner’ area ?
(a) Pune- Nagar - Khandesh (b) Nashik — Satara
(¢) Solapur — Sangli — Ahmednagar (d) Ratnagiri — Raigad
Select the correet option :
(1) (a) and (b) are correct (2) (b) and (¢) are correct
(3) (a), M) and (c) are correct (4) All are correct
77. 1857 <91 3819 TSYUATETS! ARSI Shival Toaehedi-l SUNHT A<d belt Bt 2
(@) Y3d TN WEEE HaHs (b) v WS TET
(c) THETRE 9eI (d) TR SEETE AES
i IW
L) ()3 (b) T 2) (@), (b) A (¢) Bt
(3) (b, (c) U1 (d) wF @ (d) %R
Which ruler of Maharashtra helped the Britishers to crush the 1857 Rebellion ?
(a) Raja of Peth Bhagvantrao Nilkanth (b) Srimant Malojirac Sawant
(c) Nanasaheb Peshwa (d) Bankabai Bhosale of Nagpur
Answer options:
(1) Only (a) and (b) (2) Only (a), (b) and (c)
(3) Only (b), (c) and (d) (4) Only(d
78. 1857 =1 S/ Aged gan Hiven Il F B ?
(a) wwAfE (b) s () WARRTAEE () AFST AR
qatdt W
(1) (a) 3 (b) T @) (b)anfi (¢) v
(3) (a), (b) 3T (c) B @ ), (c) 3T (@)
Which Bhil leader led the 1857 Revolt ?
(a) Kazising (b) Bhima (c) Mewasia Naik {d) Nagoji Naik
Answer options :
(1) Only (2) and (b) (2) Only (b) and (c)
(3) Only (a), (b) and (c) (4) Only (b), (c) and (d)

FHE PIHIAIS) T / SPACE FOR ROUGH WORK P.T.O.
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79. e R denidle aelietd S fam el e ?
(2) ¥fem swifteem <t v SmerTs g F e aFt 1876 Wt el
(b) TRg-meetm Yeren fata.
(¢) GE Va1 Wyl TEud) sEmaier HH S TSt AE.
(d) R ASeIa WRAAHT TgnrT fiesrar arer wed W far.

arg yaig Faer
(1) (2) 3 (b) B ©2) (byaf (c) vt
(3) (c) 3T (d) B 4) b)ww

Which of the following statements is/are incorrect about Indian Association ?
(a) Indian Association was established in Bengal by Surendranath Banerjee in

1876. Q

(b} Opposed Hindu-Muslim Unity.

(¢) Advocated to lower the age limit for Civil Services Exams.

(d) This association emphasized on participation of Indians into legislature.
Select the correct option :

(1) Only(a)and (b) (2) Only (b) and (¢}

(3) Only(c) and (d) (4) Only(®)

80. WEiHd! SR Fur St JRd ?

(a) 1765 7ed = sfear Syfiar swersan TammErgd ‘Tl gae’ fresed.

(b) 1833 =it T ST, fheRtor o) Tev g SR,

(0) TEIEEIT BT WIT FOEART Y@ wui-gdenyy Pasen .

(d) 1869 wed fvam arRiedr Wl Wdnsd gigae 4w, fele T, dweg @ @

Iyt et .
qatet 39 ; Q
(1) (a) 31l (b) wara (2) (b 3fr (¢) W
(8) (a), (b) 3l (c) ek (4 (a) sl (d) v

Which of the following statements are correct ?

(a) In 1765, Nawab of Bengal granted ‘Diwani Rights’ to East India Company.

(b) The Charter of 1833 is famous for decentralization of administration.

(c) Viceroy, the head of Indian administration was selected through competitive
exam.

(d) Surendranath Banerjee, Biharilal Gupta, Ramesh Chandra Dutta were
successful in the competitive exam held in 1869.

Answer options:
(1) Only(@and(®) . (2) Only (b)and (¢)
(83) Only (a), (b) and (¢ (4) Only (a) and (d)

HEEY] BN SR / SPACE FOR ROUGH WORK
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81. g% 9 WgM A% Wi FRHSSEN Rt e weem st gkd 2
(1) vyafér e (2) 183341 HRg
(3) YR WHRET S (1858) (4) 1861 M
Which Act created the Bombay and Madras Provincial Legislatures ?
(1) Regulating Act (2) Act of 1833
(3) Government of India Act (1858) (4) Actof 1861
82. 1905 A RN ULAEH SISHI SUARNS! YRASTET IR FR0AT I HIved] Fava™ faet ?
(a) o Tt A= s T
(b) EE TR
(¢) TE.W. ¥ 9 3 i
(d) TERHE e § gaw
T iy e
(1) (a) 3T (b) B (2)  (b)3fe (c) St
3> (b)®x 4) (d) %
Which newspaper encouraged to use weapons for motivating the Indian Nationalism
after 1905 ?
(a) Bengal Gazettee by James Hickey
(b) Madras Courier
(¢) Indian Mirror of S.N. Sen
(d) ‘Kal’ a newspaper in Maharashtra
Select the correct option :
(1) Only (a) and (b) (2) Only (b) and (¢)
(3) Only (b) 4) Only )
83. ugw WeNTy RN anf wgwa wewsg Wi gadl ‘mErrgre wemer | @ U9 96 1965 WA

wift forfgen 2
(1) HrEg =&ELd. (2) TH.IW. BIEH
(3) < Yy (4) % TEE.

In the year 1965, who wrote the book ‘Maharashtrache Mahamanthan’ related to the
Samyukta Maharashtra Parishad and Sumyukta Maharashtra Samiti ?

(1) Bhagwat V.P. (2) N.R.Phatak
(3) Lalji Pendse (4) Phadake Y.D.

Freey| BIIIS) SR / SPACE FOR ROUGH WORK . P.T.O.
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grefie four g 6wt @ Te 50

(a) TGRS TBAq HSH AT TR GO TrATRGA TS RIGOT WTH

() 10 e, 1857 & Reieh wiw Aifttw #&7 araai=n s fig o= Sgamah
T I

() foum (2) 9% AR, (b) W AR

(2) Tgm (b) 9% M}, (a) R AR

(3) A fud = snda

(4) QA fqur 3= e

Consider the following statements correct or incorrect :
(a) Vasudev Balavant Phadke got a Military education from Lahuji Buwa.

(b) 10th August, 1857 a date fixed for uprising under leadership of Thakur Singh of
Sawantwadi and harassed the British Army in the Jungle of Kadi.

Answer options:

(1) Statement (a) is incorrect, (b) is correct
(2) Statement (b) is incorrect, (a) is correct
(3) Both statements are correct

(4 Both statements are incorrect

85.

1817 Wl FHEHa AW HIOT SR g okt ol arerea Riswr Ter S e 2
(a) TSW™ At T anfty fasm fyseen

(b) TSTW g Wa My 2feds den

(¢) TNWW T Ug anftr @fe faeam dfew

(d) TS AR Ta i Bigs < AWK

Ty gty faer
(1) (a) 3N () T 3a (2) (b) 3l (d) w0t A
3) (a), (b) 3N () K AR 4) (b) R 3R

With whose effort the Hindu College’, a Western Education Institute, was
established at Calcutta in the year 1817 ?

(a) Rajaram Mohan Roy and Bishop Midlton

(b) Rajaram Mohan Roy dnd Devid Hair

(¢} Rajaram Mohan Roy and Lord William Bentik

(d) Rajaram Mohan Roy and Fedric John Shore

Select the ecorrect option :

(1) (a) and (¢) are correct {2) (b) and (d) are correct
(3) (a), (b) and (c) are correct (4) (b)is correct

TTEI] HENEIST SR / SPACE FOR ROUGH WORK

p—t___. . .,



A 41 F17
86, <ot AT Hoh e e a2

Q) e I @) ¥ sfm

@ wea (4) I e

Who rejected the ‘Rajaji Formula’ ?

(1) Lord Wavell (2) Barr. Jinah

(8) Sir Churchill (4) Mahatma Gandhi

87. ‘vl AN fiqu Hievam TGy IR, WY IqRHAAIE I TR WHETE R 39 TN
HR.” W R TV IR ?
. (1) st e
l @) i T
(3) #fEw faem

(@) T HHSHICS
“The Brahmo Samaj was unwilling to desert Hinduism, but was willing to become
liberal and respond to the impact of Western faith.” Whose words are these ?
(1) Miss Colet
(2) Atmiya Sabha
(83) Munier Williams
(4) Ramsay MacDonald

O 88  axeh Rowew R Al Bl AR 2
’ (1) @ T g
' (2) awlA A FEd
(3) oI TW I
(4) <R U] TSI
Who popularized the ‘Warli’ Paintings in Foreign countries ?
(1) Mashe Jivya Somya
(2) Talim Balaji Vasant
(3) Thatte Ram Anant

(4) Bakare Sadanand Krushnaji
He] DTS S / SPACE FOR ROUGH WORK P.T.O.
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89. Tl gaFE Treadt IisAr gogiat ‘R TR HR TRt wivr SR 9 39 B ?

(a) TN BETRT

(¢) eIt TSI
TNM'ST&:

Q) (@) 3l (b)
(3) (), (c) 3T (d) ®a

& TToed

(d) T agee

(2) (a), (b) T (c) B
(4) 0% 99 ==

Who among the following continued the work of ‘Arya Samaj’ after the death of

Swami Dayanand Saraswati 7

(a) Lala Hansraj

(c) Lala Lajapatrai
Answer options :

(1) Only(a) and (b)

(3) Only(a), (c) and (d)

(b) Pandit Gurudatt
{d) Swami Shradhanand

(2) Only(a), (b) and (c)
(4) All of the above are correct

90. el e Joua

(a) USWH Ag W (i) woagfe W i
(b)) wWrlt @G eEEdt (i) SEee Soa
(¢) VBN BA (iii) g ufe
(d) o AHARHTET  (iv) 956 GR
‘qﬂiﬁ 3'\'-15( :
(a) (b) (c) )
(1) (@) (iii) @ (iv)
(2) (Gii) (ii) (iv) (i)
3 @ (iv) (ii) (iii)
4) Gv) (i) (ii) (iii)
Match the following pairs :

(a) Rajaram Mohan Roy

(b) Swami Dayanand Saraswati §3))

(¢} Mahatma Phule

(d) Dr. Atmaram Pandurang

Answer options :

(a) (b) (e)
(1) G (iii) @
(2) Gid) (1) (iv)
3 @ (iv) (i)
4) Gv) o (i)

(i) Rigvedadi Bhashya Bhumika
Sarvajanik Satyadharma
(iti) Subodh Patrika

(iv) Vedant Saar

d)
(iv)
@A)

(iii)
(iid)

FEHT RIS SR / SPACE FOR ROUGH WORK
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91, ‘o vomw fvme weaqg Al fr. AR o et Sorm w1t & 2
(@) 1928 Ted ot IY “Yahtt YRS o
(b) TR e =g A
(c) UelL Wik HAR
(d) 1923 7= Q0 A ‘AReIrm’ FEI T FHeh

gt W ;
(1) (a) o (b) vFa (2) (), (b) 3 (d) B
(3) (B), (c) 3NfT (d) BFa ) =9 v AR

Which of the following works were done by Maharshi V.R. Shinde through
‘Depressed Classes Mission’ ?

(a) Organized ‘Shetakari Parishad’ at Pune in 1928

(b) Abrogated the Murali Custom

(¢) Pandharpur Temple Satyagraha

(d) Establishment of ‘Ahilyashram’ sanstha at Pune in 1923

Answer options :
(1) Only (a) and (b) (2) Only(a), (b) and (d)
(3) Only (), (¢)and (d) (4) All of the above are correct

92. 19, 1956 st Wiam=d el Tod anfer brgamefta wemm=it Fiffe g areft 2
(1) 10 TSY, 6 o v
(2) 14 TSR, 6 FeguRia o
(3) 14 TS, 4 Hgumta
(4) 12 TS, 6 FouEia 9

How many States and Union Territories were created in India on
1%t November, 1956 ?

(1) 10 States, 6 Union Territories
(2) 14 States, 6 Union Territories
(3) 14 States, 4 Union Territories
(4) 12 States, 8 Union Territories

FET BRI ST / SPACE FOR ROUGH WORK P.T.O.
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93. 1902 wed gRgR A% gerad T Ag e Avarard) e <ft ToTTET Hiof et ?

(a) T TG (b) W

(¢) =R (d) el FETS

ara g feer

(1) (a)3nfr (d) T 31 (2)  (b) 3P (c) sRI= ¥
(3) (a) 3N () TR AR (4) (b) 3TN () RS FRA
Who established Gurukul at Haridwar for the education of Bachelorhood and Vedas
in 1902 ?

(a) Lala Lajpatrai (b) Lekharam

(¢) Munshi Ram {d) Lala Hansraj

Select the correct options :

(1) (a)and (d) are correct (2) (b) and (c) are correct
(3) (a)and (c) are correct (4) (b)and (d) are correct

94, Gefle el Je5aT :

(a) 1805 HE WIS WY SRl ARG e ()  =Ten ggns
(b) STFHETHIC TRIYAT T¥8Fah TRV M el (i) <uef
(¢) 1821 W QU HEHA TISHISH! T (i) aTwrE SR
(d) “EUNEE TE AT Gv) fafwm &t
i I

(a) (b) (c) G
(1) Gi) @) (iv) (ii)

(2) @b (iv) (i) @ii)
(3) Gv) (iii) (ii) @)
4) @ (ii) (iii) i)

Match the following pairs :
(a) Published Marathi Language Grammer in 1805 (i) Baba Padmanji
(b) Taught the prince of Akkalkot (ii) Chaplin
(c) Established Sanskrit School at Poona in 1821 (iii) Balshastri Jambhekar
(d) ‘Arunoday an Autobiography (iv) Wiliam Carrey
Answer options :
(a) (b) @ .
(1) - Gi) @) (iv) (i)

(2) () (iv) (i) (ii1)

3 @Gv) (iii) (ii) @

4) @ (i) (iii) (iv)
FEeql GPIRATGS STH / SPACE FOR ROUGH WORK
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95. =oiera e aren ‘7 5677 s’ A T g I AT 3T STRES 31 IV SgE

F IR,
(1) e e (2) e RN
(3) Teigr 2FIR 4) onfeg W
‘ In the book of The Indian Unrest’ Valentine Chirole mentioned to whom as ‘The
. Father of Indian Unrest’ ?
' (1) Lokmanya Tilak (2) Dadabhai Naoroji
:} 6 (3) Ravindranath Tagore (4) Arvind Ghosh
’ 96. weERTHE e RN GIERIWEY ToHE Wiig 3R ?
' (1) 9= 2 =%
[ (3) 9TR @) =
In which of the following communities in Maharashtra is ‘Gajanrutya’ famous ?
' (1) Warli (2) Korku
(3) Dhangar (4) Koli
97. ‘T wEweg Gl wed qdterteh) v avwEg Hald B ?
(a) VI.2.dl. WK (b) #ft vFE <
(¢) o FyE 9 (@ st sfre =R
o Tt I
) O (a)3r (b) $Fa () (b) 3 (¢) T
(3) (), (b) 3R (@) F (4) 0= ud TR
‘ Which of the following members were related with ‘Samyukta Maharashtra Samiti’ ?
(a) Prof. D.V. Potdar (b) Shri Shankarrav Dev
(c) \Shri Keshavrao Jedhe (d) Shri Shri S. Navare
Answer options:
(1) Only (a) and (b) (2) Only (b) and (¢)
(3) Only (a), (b} and (d) (4) All of the above are correct

ol RIS ST / SPACE FOR ROUGH WORK P.T.O.
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98. Geld Sew J@aT

IChthi{ AlEeh
(@ A R @ W
(b) foem dgoem (i) @R
(c) oM 3 Gif) t Feer H g
(d) smoomeRe fede Gv) R
It I

(a) (b) (c) )
1) @D (iv) (1 (iii)
(2) @Gv) (iii) (ii) @
(3) (i) (i) (ii) (iv) }
@ (i) ® (iv) (iii)
Match the following pairs :

Dramatist Drama
(a) G.N.Dandekar (i) ‘Shakuntal’
(b) Vijay Tendulkar (i) ‘“To Mi Navhech’
(c) Acharya Atre (iii) ‘Mi Jinkalo Mi Haralo’
(d) Annasaheb Kirloskar (iv) ‘Shitu’
Answer options :

(a) (b) (c) (d)
(1) (i) (iv) @ (iii)
(2) @) (iii) (ii) @)
(3) (i) @ (if) (iv)
(4) Gi) (i) (iv) (iii)

Fe=g] HNTS! SN / SPACE FOR ROUGH WORK
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(a) AR woter et
(b) IR wwF. W)
(c) Gl SRmITe]

) @& mE
gaiEl I :

(1) (a) %=

(2) (a) T (b) B
(3) (b)%ed

@) (c)3nfr (d)

47
7 UVE .

The State Reorganisation Commission member were

(a) Justice Fazal Ali
(b) Justice S.K. Dhar
(c) Patti Sriramalu
(d) C.D.Deshmukh
Answer options:

(1) Only(a)

(2) Only (a) and (b)
(3) Only (b)

(4) Only (¢) and (d}

F17

o T

vfm s T AR SRase g BioES B ?

(1) <% gSHER
(2) ueflers <dudt

(8) Ut FPE-
@ | fe

The Naxlite Movement in West Bengal was started under whose leadership ?

(1) Charu Mujumdar

(2) Sushilrai Chaudhari

(8) Phani Mujumdar
(4) Somen Mitra
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8y R Rift Foe fiftre v = 3 (T %) T, TEIRhA MRE STRAESR JF TR
FHATEER = HH Hodd o B HOGTAT WA et AR, W THS TS T THER SAGANR A
il e “wlimived g Hoemrim viids sogEEad A -82” arite WEETER SRAE
T A 9 Il R HAT T TN PREETEAT M/ R T U6 TR i et R
9 giEd.

(9 TR WRHEE AR kT Hoel 3w duerHw e € WAyfRe w@deis wamresE]
USH ME WEMfl IR, AT GHaTEReETd AgET SiEaWH  AhedT IRl WE-1
RS 7 T W o) AavEs A,

g STed

Y. 3. 201, Gl A1a A5 FATES Hioft gem: T S ?
(1) Enf qErg Wt @ $vateg feemrr
(3) T UwRIE T @) TITSF MiEe
T AR A I “(3) TS THATET TA7 A IR, WS 41 YR S 48)” B,
I QAT T %, 201 THI0A Swspais “(3)” 3 Ides quivd! st wed
RIS AR

w2 @O @ @ ®
AN T TG SRAYRIHA T TRATE gHET Sul-shHiT B greiel S gefeien
JEAAFTIE- T 1 IO Gt age iN SRifed weT graarl. grnier
Ha WAt WS Gieids arad, Sfe a1 s i aaw 1A,

HAT BHRATS! ST/ SPACE FOR ROUGH WORK




